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PART A: Vocahulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet,

10-

With the pace of life in Indian metros getting faster by the day, many of the old Indian
traditions have fallen into --——-- and are no longer practiced.

1) indifference 2) equilibrium 3) abeyance 4) annovance

We thought he was reliable till we realized that he had given us a -------— address.

1) dishonest 2) fake 3) skeptical 4} vulnerable

His expression was gloomy at every game; | don’t think I saw him smile even when his
team ——---—- a hundred points.

1) scored 2y connecied 3) achieved 4) displayed

The approaching rain gave us a --———- excuse to escape the boring party.

1) harmless 2) monotonous 3) secret 4) plausible

The relationship between the earthworm and the garden is -——---- : the garden provides

a4 home for the earthworm, while the earthworm provides manure for the garden and
keeps it fertile.

1) impractical 2) symbiotic 3) latent 4) paradoxical

When it was discovered that he had been operating as a spy, he was badly --—-- --- in the
press as being a traitor,

1) incorporated 2) censured 3) concerned 4) constrained
Contemporary research into the origins of DeLong culture indicates that a hunter-
gatherer society was established about 2,000 years earlier than was -----—- thought.

1) similarly 2) suftficiently 3) previously 4) accurately

An attempt was made to ignore this brilliant and irregular book, but in ———-—---; it was
read all over Europe.

1) jeopardy 2) chaos 3) contempt 4) vain

He strictly warned him that if he did not take the medicine in time, the pain would not
1) subside 2) degrade 3) avoid 4) collapse

To reduce ~—------, the company will no longer mail monthly paper statements to those
with access to online statements.

1) fright 2) hesitation 3) conflict 4) waste

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or {4) best fits each
space. Then mark the correct choice on your answer sheet.

Becoming a mother i1s a major transition. points out clinical psychologist Ann
Dunnewold, (11) ---------- in Dallas, Tex., provides support for mothers. New mothers
give up autonomy. sleep and relationships (12) ---------- to the relentless needs of a baby.
On top of that, they are also expected to be in a constant state of bliss and fulfillment
(13) ==mmmmmeee their new role. “There’s a lot of pressure to be the perfect mother,
(14) —-—mmmm- they 're not coping,” Leahy-Warren says.



Making matters worse, research that demonstrates the importance of early childhood

experiences in determining future success and happiness (15) ---------- on moms to get
it right.
11- 1) practices 2) whose practice  3) practicing 4) she practices
12- 1) with tending 2)tend 3) to tend 4) that tend
13- 1)of 2) by 3)in 4) with
14- 1) and they are alraid to say 2) while afraid to say
3) but they say they are afraid of what  4) then they say afraid they are
15- 1) and additional pressure 2) add pressure
3) puts additional pressure 4) and added pressure

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

chaoice (1), (2), (3), or (4). Then mark the correct choice on vour answer sheet.

PASSAGE 1:

The weirdness of the quantum world 1s well documented. The double-slit experiment,
showing that light behaves as both a wave and a particle, is odd enough — particularly
when it is shown that observing it makes it one or the other. But it gets stranger.
According to an experiment proposed by the physicist John Wheeler in 1978 and carried
out by researchers in 2007, observing a particle now can change what happened to
another one — in the past. According to the double-slit experiment, if you observe which
of two slits light passes through. vou force it to behave like a particle. If vou don’t. and
observe where it lands on a screen behind the slits, it behaves like a wave. But if vou
wait for it to pass through the slit, and then observe which way it came through, it will
retroactively force it to have passed through one or the other. In other words, causality
is working backwards: the present is affecting the past. Of course in the lab this only has
an effect over indescribably tiny fractions of a second. But Wheeler suggested that light
from distant stars that has bent around a gravitational well in between could be observed
in the same way., which could mean observing something now and changing what
happened thousands. or even millions, of vears in the past.

16- Which of the following is the best title for the passage?
1) How Present Events Can Affect What Happened in the Past
2) The Oddness of the Physics World at Present
3) How to Document the Double-Slit Experiment
4) The True Nature of Light: A Wave or a Particle?

17-  Which of the following statements is true?
1) John Wheeler did his experiment in 2007 with a group of his colleagues.
2) According to the double-slit experiment, light behaves only as a particle.
3) Based on new experiments, causality is likely to work backwards as well.
4) According to Wheeler’'s experiment. light behaves only as a wave.



18-

19-

What does the underlined “it" in line 8 refer to?

1) Screen 2 Particle

3) Slit 4) Light

What does the word “indescribably” in line 12 mean?

1) Indecisively 2) Indefinably
3) Indisputably 4) Inadequately

Which of the following can be concluded from the passage?

1) The experiment concerning the effect of present events on the past showed small scale
results.

2) It is possible to change events that happened thousands of years ago in a laboratory.

3) Light from distant stars have similar qualities to the light used in the double-slit
experiment,

4) Following the double-slit experiment. if one determines which of two slits light passes
through. it would amount to treating light as a wave.

PASSAGE 2:

Although conceived of as distinet phenomena until the 19th century, electricity and
magnetism are now known to be components of the unified field of electromagnetism.
Particles with electric charge interact by an electric force, while charged particles in
motion produce and respond to magnetic forces as well. Many subatomic particles,
including the electrically charged electron and proton and the electrically neutral
neutron. behave like elementary magnets. On the other hand, in spite of systematic
searches undertaken, no magnetic monopoles. which would be the magnetic analogues
of electric charges. have ever been found.

The field concept plays a central role in the classical formulation of electromagnetism,
as well as in many other areas of classical and contemporary physics. Einstein's
gravitational field, for example, replaces Newton's concept of gravitational action at a
distance. The field deseribing the electric force between a pair of charged particles
works in the following manner: each particle creates an electric field in the space
surrounding it, and so also at the position occupied by the other particle: each particle
responds to the force exerted upon it by the electric field at its own position.

Classical electromagnetism is summarized by the laws of action of electric and
magnetic fields upon electric charges and upon magnets and by four remarkable
equations formulated in the latter part of the 19th century by the Scottish physicist James
Clerk Maxwell. The latter equations describe the manner in which electric charges and
currents produce electric and magnetic fields, as well as the manner in which changing
magnetic fields produce electric fields. and vice versa. From these relations Maxwell
inferred the existence of electromagnetic waves—associated electric and magnetic
fields in space. detached from the charges that created them, traveling at the speed of
light. and endowed with such “mechanical” properties as energy. momentum. and
angular momentum. The light to which the human eye is sensitive is but one small
segment of an electromagnetic spectrum that extends from long-wavelength radio waves
to short-wavelength gamma rays and includes X-rays. microwaves, and infrared (or
heat) radiation.
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21-

22-

23-

24-

25-

What does first paragraph mainly discuss?

1) Subatomic particles behave like elementary magnets.

2) The fact that charged particles in motion produce and respond to magnetic forces.

3) Electricity and magnetism are no longer viewed as two distinct phenomena.

4) To date. the search for magnetic monopoles has not been fully successful.

What is the main topic of the second paragraph?

1) Classical electromagnetism

2) The field concept

3) Newton’s concept of gravitational action

4) Classical versus contemporary physics

What does the word *“it"” in the second paragraph refer to?

1) Position 2) Space

3) Electric field 4) Particle

Which of the following statements is true?

1) The light to which the human eye is sensitive includes X-rays, microwaves. and
infrared radiation.

2) The laws of action of electric and magnetic fields were formulated by four
distinguished physicists.

3) Linear momentum is referred to as one of the “mechanical” properties of
electromagnetic waves.

4) Of the four equations. the first one describes the way in which electric charges and
currents produce electric and magnetic fields.

What does the word “detached™ in the third paragraph refer to?

1) Disarmed 2) Disclosed 3) Disconnected  4) Disguised

PASSAGE 3:

Gravitation as a field of inquiry has in the past been placed within classical mechanics
for historical reasons, because both fields were brought to a high state of perfection by
Newton and also because of its universal character. Newton's gravitational law states
that every material particle in the universe attracts every other one with a force that acts
along the line joining them and whose strength is directly proportional to the product of
their masses and inversely proportional to the square of their separation. Newton's
detailed accounting for the orbits of the planets and the Moon, as well as for such subtle
gravitational effects as the tides and the precession of the equinoxes (a slow cyclical
change in direction of the Earth’s axis of rotation) through this fundamental force was
the first triumph of classical mechanics. No further principles are required to understand
the principal aspects of rocketry and space flight, although, of course, a formidable
technology is needed to carry them out.

The modern theory of gravitation was formulated by Albert Einstein and is called the
general theory of relativity, From the long-known equality of the quantity “mass™ in
Newton’s second law of motion and that in his gravitational law, Einstein was struck by
the fact that acceleration can locally annul a gravitational force (as occurs in the so-
called weightlessness ol astronauts in an Earth-orbiting spacecraft) and was led thereby
to the concept of curved space-time. Completed in 19135, the theory was valued for many
vears mainly for its mathematical beauty and for correctly predicting a small number of
phenomena, such as the gravitational bending of light around a massive object. Only in



26-

28-

29-

recent years. however, has it become a vital subject for both theoretical and experimental
research. It should also be noted that relativistic mechanics refers to Finstein’s special
theory of relativity, which is not a theory of gravitation,

What does the passage mainly discuss?

1) Classical mechanics 2) Newton's second law of motion
3) General theory of relativity 4) History of gravitation

What does the word *its™ in the first paragraph refer to?

1) Gravitation 2) Perfection

3) High state 4) Field of inquiry

What does the word “triumph”™ in the first paragraph mean?

1) Discovery 2) Achievement

3) Recognition 4) Objective

Why was Einstein’s theory of relativity appreciated for a long time?

1) For its capability for both theoretical and experimental research investigation
2) For its formulation of the gravitational bending of light around a simple object
3) For its accurate prediction of a number of phenomena

4} For its extremely sophisticated mathematical calculation

What do we understand from the last sentence of the second paragraph?

1) Einstein’s special theory of relativity 15 a theory of gravitation.

2) Relativistic mechanics is not a theory of gravitation.

3) Relativistic mechanics is not the same as Einstein’s special theory of relativity.
4) Relativistic mechanics is Einstein’s general theory of relativity.
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